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QUESTION 1

A customer has asked to have a vSphere cluster and Cloud Zone dedicated for Cloud Template development. The
customer is going use the Cloud.vSphere.Machine compute resource type and they have been unable to quantify
values for Favor Mappings during a requirements gathering exercise.

Which Flavor Mapping decision should be made for the Cloud Zone?

A. Create multiple Flavor Mappings with incremental sizes

B. Flavor Mappings are not needed for the vSphere Cloud Zone

C. Create a single Flavor Mapping with a modest size

D. Create a single Flavor Mapping with the maximum size supported by vSphere

Correct Answer: A

QUESTION 2

An organization wants to provide automated self-service laaS catalog to all departments within the organization. The
key stakeholders have asked for the platform to be resilient to component failures and each department consume the
same on-premises infrastructure but can only see and manage machines which belong to their department.

Choose one design decision that will meet the business requirements.

A. Deploy single node deployment and use tenants to separate the departments.

B. Deploy single node deployment and use projects to separate the departments.

C. Deploy multi-node deployment and use projects to separate the departments.

D. Deploy multi-node deployment and use tenants to separate the departments.

Correct Answer: D

QUESTION 3

An architect is responsible for creating the design for a Cloud Monitoring solution that will be used to
monitor a greenfield VMware Software-Defined Data Center (SDDC). During a requirements gathering
workshop, the Service Owner provided a list of solution requirements:

The solution must support a monthly availability target of 99.9%.

The solution must support the monitoring of 1000 virtual machines across two data center locations.
The solution must support the retention of live data for at least 12 months.

The solution must be redundant to a minimum of N + 1 including during planned maintenance.
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The Recovery Time Objective (RTO) of solution is 4 hours.

Given the information from the Service Owner, which two statements would be considered functional requirements?
(Choose two.)

A. The solution must support the monitoring of 1000 virtual machines across two data center locations.
B. The Recovery Time Objective (RTO) of solution is 4 hours.

C. The solution must support a monthly availability target of 99.9%.

D. The solution must be redundant to a minimum of N + 1 including during planned maintenance.

E. The solution must support the retention of live data for at least 12 months.

Correct Answer: AE

QUESTION 4

An architect has designed a vRealize Log Insight (vRLI) cluster for an organization. Details of the cluster are provided
below:

3-node vRealize Log Insight cluster to collect logs for an organization NFS storage is enabled for archival data Once the
NFS storage is full, which will be the resulting scenario?

A. VRLI will stop ingesting new data and unless free space is available, loss of data will occur.
B. vRLI will automatically delete the oldest archived logs, resulting in archived data loss.

C. vRLI will further compress the active logs to make more space available in NFS storage.
D. vRLI will send a notification and automatically disable log archiving.

Correct Answer: A

QUESTION 5

What are two requirements for deploying a small deployment of vRealize Automation? (Choose two.)
A. Certificate Authority (CA)-signed certificate for all the components of deployment

B. Upgrading the existing vRealize Suite Lifecycle Manager

C. Valid, fully-qualified domain name that can be resolved with both forward and reverse lookup

D. Configured load balancers

E. Single, static IPv4 and network address

Correct Answer: CE
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